
COMPONENT CHECKLIST

Technical Summary

Page 1 of 2

C

C

B

B

A1 A2

A3 A4

PRODUCT DIMENSIONS

Item Name QTY
A1 M5 x 15mm Screw 4
A2 M6 x 15mm Screw 4
A3 M8 x 15mm Screw 4
A4 M6 Washer 4
B Tilt Bracket-Right 1
C Tilt Bracket-Left 1

INSTALLATION INSTRUCTION

Height

Anti shedding

adjust
5mm

1. Attach b rackets to display 2. Mount displ ay on rail

B

A4

A1
A2
A3

Locking
screw for
fixed 0 tilt

 6.0°

 5.0° 

 10.0° 
 15.0° 

13
1.

1m
m

Levelling
Screw

Locking
Screw

42.5mm

60.5mm

45mm
20

0m
m

EAN: 7350073733910
Tilt arms(20cm)



Page 2 of 2

Tlit 0°

0 5

10
15

1

2

Tlit 5°

2

Tlit 10° Tlit 15°

2

0 5

10
15

1
0 5

10
15

0
5

10
15

1
0 5

10
15

0 5

10

15
0 5

10

15

5°
10°
15°

6°


